Cap-Bestand

Kapazitat [uF]  Spannung[V] Form Typ Stiick K.Lagerung [Ja/NEIN ]
0,1 / R T >10 JA
0,15 35 R T >10 JA
0,22 35/50 R T >10 JA
0,33 35 R T >10 JA
0,47 35 R T >10 JA
0,47 63 R E >10 JA
0,68 35 R T >10 JA

1 35 R T >10 JA
1 50/63/100 R/A E >10 JA/NEIN
1,5 35 T >10 JA
2,2 35 T >10 JA
2,2 450 E >10 JA
2,2/3,3 63 R/A E >10 JA/NEIN
3,3 35 R T >10 JA
4,7 35 R T >10 JA
4,7 63 R E >10 JA
4,7 350 A E 7 JA
6,8 35 R T >10 JA
10 35 R T >10 JA
10 35/50 R/A E >10 JA
10 63 R E 3 JA
10 100 A E >10 JA
10 350 R/A E >10 JA
15 16/35 R T >10 JA
22 6,3 R E >10 JA
22 16 R T >10 JA
22 35 A E >10 JA
22 35/40/50 R E >10 JA
22 63 A E >10 JA
22 63 R E >10 JA
22 63 R E >10 JA
22 100 R E 7 JA
22 350 R/A E >10 JA
22 25 E >100 JA
33 16 R T >10 JA
33 35 R E >10 JA
33 63 R/A E >10 JA
33 63 R E >10 JA
33 100 R/A E >10 JA
33 350 R E >10 JA
47 16 R/A E >10 JA
47 16 R T >10 JA
47 35 A E >10 JA
47 35 R E >10 JA
47 63 R E >10 JA
47 63 R/A E 9 JA
47 100 R E >10 JA
47 160 A E >10 JA
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R = Radial
A = Axial
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E = Elektrolyt

T = Tantal
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Kapazitat [uF]
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K.Lagerung [Ja/NEIN ]
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K.Lagerung ?
JA: Siehe Kiste auf
Schrank
Nein: Siehe Schublade



